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Total 1\10-,_ of Questions—4] : - [Total No. of Printed Pages—3
& e  [3704]-101
M.A. (Part I) (First Semester) EXAMINATION, 2010
| | ECONOMICS |
tEc-101 . Micro Economic Analysis—I)
(JUNE 2008 PATTERN)
Time : Thfee Hours ' - Maximum Marks : 80
" N.B. :— (i) Attempt All questions. '
‘ - (Gi) Figures to the right ind_icéte 'fullr marks.
(iii) Answer should '.bé precise and to the poinﬁ.
1. Answer the following qﬂéstions in 500 words (any one) : | [20]
(1) Explain in detail the ‘conn_:épt of price mechanism and state its
role in solving basic economic problems.

(2): Explain the properties of Iso'—quanﬁ curve.

2.  Answer the following questions in 500 words (any one) : [20]
(1) What is Consumer’s eduilibrium ? Explain Income, Substitution
_ and ‘_'Price éffeqts y.vith the help of Indifference curve.
: ‘(2)- What is Economics of Scale ? Explain the Iﬁternal and External
Economies of Large Sale Production. 5
3. Answer the following questions in 2‘50 wlords each (any two) : [20]
(1) Explain the production possibility curve.

(2) - Explain the various types of price elasticity of demand.

PO



Explain the Armstrong’s Marginal Preference Theory.

&)
@) Explain fhe con.celﬁt static and dynamic economics.

4. Write_short,notes_ on ('a-ny four) : '_ | [20]
(1) Fixed and variable cost. | l |
(O Consumer’s surplus.

(3) Average_, Marginal‘ and Total Revenue.
(4) Merits of Inducﬁve Method.
(5) Importance of Micro Economics.
 (6) ‘ lOpportunity cost of production.
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Total No. of Questions—4] | [Total No. of Printed Pages—3
- . [37041-102
M.A. (Part I) (First Semester) EXAMINATION, 2010 :
|  ECONOMICS |

(EC-102 : Public Finance)

(JUNE 2008 PATTERN)
Time : Three Hburs . ' ; Maximum Marks : 86

: NB — (@) Attémpt All questions. _-
(i7) Fi.gureé to .thé- right indicate full marks.

(i) Answers should be precise and to" the point.

1. Answer the following questibns in 500 words _each (any one) : [20]
(1) Explain in detail the Fiscal functions of Government.

2) Explain the ‘Ability to pay principle’ of taxation.

2. _An“swer the following questions in 500 rwo'rds each (any one) : [20]
- (1) Explain the types of Incidence of Tax. |
(2) Discuss the shifting of tax incidence under different market

~ conditions.

3.  Answer the following questions in 250 words each (any fwo) : [20] -
(1) Explain the “Wagner’s Law of Public Expenditure”.
(2) Explain the pure- theory. of pﬁ_blic expenditure.

P.T.0.



= (8)  Critically examine the Classical and Keynesian approaches of Public
 Debt. :

4) . Explain the ‘Social Cost Benefit Analysis’.-

4.  Write short notes (anj} folur) 2 | ' [20]
(1) Types of pubhc debt . 7
(2) Wlseman Peacock HypotheS1s

(3 ;Repayment of public debt

(4) Types of taxable capacity-r

(5 _'Role of government in mixed economy

. (6) Private goods and pubhc goods
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3704]-103

M.A. (Part I) (First Semester) EXAMINATION, 2010
ECONOMICS
EC-103 : Agricultural Economics
(JUNE 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

NB. :— () Attempt All questions.
(z1) Figures to the right indicate full marks.
(iii) Answers should be precise and to the point.
1'

Answer any one of the following questions in 500 words
(1)
(i1)

[20]
Explain the role of Agriculture in Indian economy. ‘

Elaborate the role of Co-operative Banks in Agricultural Credit.

2. Answer any one of the following questions in 500 words : [20]
({) State and explain the causes of low productivity of Indian
Agriculture.
(ii) Explain the problems of Agricultural Management.
3.

" Answer the following questions in 250 words each (any two) : [20]
() State and explain the problems of Agricultural Marketing in
India.

P.T.O.



(i) Explain the Agricultural price system in India.
(iit) Discuss the challenges before Agricultural sector.

(tv) Explain the role of NABARD in Agricultural Credit.

4. Write short notes (any four) : [20]
(i) Food security in India
(ii) Farming as a way of life
(iti) Green revolution
(iv) Unorganised credit system
(v) Global marketing

(vi) Principles of Agricultural Management.
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Total No. of Questions—4] [Total No. of Printed Pages—3
[3704]-104

M.A. (Part I) (First Semester) EXAMINATION, 2010
ECONOMICS
(EC-104 : Indian Economic Policy)
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.

(zit) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(i) Evaluate the population policy of India.
(ii) What is social infrastructure ? Explain the educational system

and health services in India.

2. Answer any one of the following questions in 500 words : [20]
(i) - Evaluate the Economic Reforms in India since 1991.
(it} Describe the role of small scale industries in Indian economy.

State the problems faced by small scale industries.

3. Answer the following questions in 250 words each (any two) : [20]
(i)  Explain the indicators of economic development.
(it) Evaluate agricultural pricing policy.
(iii) Describe the monetary policy since 1991.

(iv) Explain the growth of industrial sector in post-reform period.
P.T.O.



4. Write short notes on (any four) : [20]
(i) Importance of economic policy
(ii) Sources of energy
(iii) Privatization
(iv) Reforms in money market
(v) Problems of agricultural marketing

(vi) Labour market.
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3704]-105
M.A. (Part I) (First Semester) EXAMINATION, 2010
ECONOMICS
(EC-105 : Labour Economics)
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following questions in 500 words each (any one)} :[20]

(1} Discuss the characteristics of labour markets in developing

countries like India.

(ii) Evaluate the National Wage Policy in India.

2. Answer the following questions in 500 words each (any one) :{20]

(i) “Migration of labour is harmful to industries but invitable in

India.” Comment.

(i7) What are the causes of industrial disputes ? Discuss the methods

of their settlement.

3. Answer the following questions in 250 words each (any fwo) :[20]
(i) Explain the concepts of ‘Minimum Wage and Fair Wage.’

P.T.O. -
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(z1)  Discuss the various methods of wage determination in various

sectors of the economy.
(zit) Explain the current trends in collective bargaining in India.

' (iv) Discuss the causes of absenteeism of labour in India.

4. Write short notes in 100 words each (any four) : [20]
(¢)  Peculiarities of Labour
(z1)  Labour Turnover
(iii) Structure of Labour Unions in India
(iv) Exit Policy
(v) Safety Nets

(vi) Recommendations of Second National Commission on Labour.
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Total No. of Questions—4] {Total No. of Printed Pages—3

[3704]-106
M.A. (Part I) (First Semester) EXAMINATION, 2010
ECONOMICS
(EC-106 : Cooperation Theory and Practice)

(JUNE 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B.

+— (i) Attempt All questions.
(ii) Figures to the right indicate full marks,

(iii) Answers should be precise and to the point.

Answer any one of the following questions in 500 words : [20]
(1) Discuss in detail the importance and benefits of Cooperation.

(2) Explain the recommendations of Vaidyanathan Committee.

Answer any one of the following questions in 500 words : [20]
(1) Review the hlstory and growth of Cooperative Movement in
Germany.

(2) Explain the provisions of Maharashtra Cooperative Act 1960.

Answer the following questions in 250 words each (any two) :[20]

(1) Explain the need and objectives of cooperative training.

PTO. .
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(2) Explain in detail the types of Cooperative Audit.
(3) Explain the functions and progress of State Cooperative Bank.

(4) Explain- the role of Regional Rural Banks in rural credit.

4. Write short notes on (any four) : [20]
(1)  Functions of Cooperative Auditor
(2) -~ Problems of Urban Cooperative Banks
(3) Characteristics of Cooperation
(4) Coop sugar industry in Maharashtra
(5) NABARD
(6) International Cooperative Alliance.
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Total No. of Questions—4] [thal No. of Printed Pages—4+1
[3704]-107
MA. (Part I) (First Semester) EXAMINATION, 2010
ECONOMICS
EC-107 : Mathematical Economics
(JUNE 2008 PATTERN)
Time : Three Hours Maxirﬁum Marks : 80
N.B. :— (i) Attempt All questions.
(z1) Figures to the right indicate full marks.
(ii) Answers should be precise and to the point.
(fv) Use of non-programmable calculator is allowed.
1.  Attempt any one out of the two : [20]

(1) Show that the matrix,

2 -1 1
A=1-1 2 -1
1 -1 2

satisfies the equation A3 — 6A2 + 9A — 4] = 0 and hence deduce
Al
(2) Let %’ be the number of units produced of some commodity,

and let C(x) and R(x), be the total costs and total revenue to
P.T.O.
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produce x items, suppose that for x > 0,

x3

Cix) = 3 4x2 +10x and

R(x) = 10x — 2x2.
Hence the profit ‘P’ is given by P{x) = Rx) — Clx).
(a) Determine P as a function of «x.
(b) Find the demand at which ‘P’ is maximum.
(¢) What is maximum profit ?
2. Attempt any one out of the two. {201

(1) Given the demand function of two commodities as,

400
— 2000 _50P
Q TP 43 2
500
~ 2000~ 100P.
Q2 ¥ P, +4

(1) Find the nature of commodity

(2) Calculate the four partial elasticities of demand at

Pl = 5, P2 = 1
(2) (@) Explain the concept of consumers surplus. What data would

you require to determine this when there is :
(1) pure competition and
(2) monopoly

Give reasons.
[(3704]-107 2



(b) The demand and supply laws for a commodity are :
P, = 56 — x% and P, = 2x — 3.

Find the consumers surplus and producers surplus at equi-

librium price.

3. Solve any fwo out of four : (20}
(1) Find :
: 1 dx
@ J e

. [ i d
@) J G -2 &

(2)  Assume that the marginal cost is given by :
2 3 —-X 4
MC =4 + 5x° + ) e - (in lakhs)

where %’ is the quantity produced. Find the total production

when x = 2, if fixed cost is Rs. 6 lakhs.

(3) A shopkeeper earns Rs. 380 in the first week, Rs. 660 in the
second week and Rs. 860 in the third week. On plotting the
points 1380, 2660 and 3860 the shopkeeper feels that a quadratic

function may fit the data. Therefore :
(1) Find the quadratic function that fits the data

(2) Using your model make a prediction of the earning for the

4th week.
[3704]-107 3 P.T.O.



(4)  Solve the following system of equations by matrix inversi(-

method
2x+8y+52z=5
X+y +z=-2
x +2y — 2 =2
4. Attempt any four out of six : ‘ [20]

(1) Find the derivatives of the following functions :

_ x2~x +1
(a) x2+x+1

B) (x® -3x+ 7 (2x% +5x +9)

(2) A company charges Rs. 550 for transister set on orders of 50
or less sets. The charge is reduced by Rs. 5 per set for each
set ordered in excess of 50. Find the largest size order company

should allow so as to receive maximum revenue.

(3) A publishing house finds that the cost of production directly
attributed to each book is Rs. 30 and that the fixed costs are
15,000. If each book can be sold for Rs. 45, then determine :

(a) The cost function
(b) The revenue function
(c) The profit function

(d) Break-even point
[3704]-107 4



(5)

(6)

[3704]-107

Let

P R R

Find (AB)C and A(BC).
A utility function is given by :
u = 2x3y2 + xy3.
Show that the rate of change of marginal utility of product x

with respect to y is equal to the rate of change of marginal

utility of y with respect to =x.

Show the Isoquants generated by the Cobb-Douglous production

function :
Q = f(L, K) = AL°KP
arc negatively sloped.

where A, ¢ and [ are positive constants.



Total No. of Questions—4] [Total No. of Printed Pages—3

[3704]-108

MA. (Part I) (First Semester) EXAMINATION, 2010
ECONOMICS
(EC-108 : Demography)
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. — (i) Attempt All questions.
(iz) Figures to the right indicate full marks.

(iti) Answer should be precise and to the point.

1. Answer the following in 500 words each (any one) : [20)

(i)  State the recent trends of Population in India. Explain the
Population Policy in India.

(it) Explain the Age and Sex composition in less developed

countries.

2.  Answer the following questions in 500 words each (any one) : [20]
() Evaluate the theory of Demographic Tré.nsition.
(i1}  State the concept of quality of population and explain the factors
affecting the quality of population.

3.  Answer the following questions in 250 words each (any two) : [20]
(i)  Critically evaluate the Malthus’ Theory of Population.
(zi) FExplain the consequences of Family Planning Programmes in

India.
PT



(;ii) Explain the indicators of Human Development.

(jv) Explain the growth of population in developed countries.

4. Write short notes (any four) : [20]
)  Importance of Demography
(ii) Measurement of Crude Birth Rate
(iii) Infant Mortality
(jv) Women Empowerment
(v) Total Fertility Rate

(vi) Health Policy

A@ : A9 A WHUT TOT : 80
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Total No. of Questions—4| [Total No. of Printed Pages—3

[3704]-201

M.A. (Part I) (Second Semester) EXAMINATION, 2010
ECONOMICS
EC-201 : Micro-economic Analysis~II
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(ii} Figures to the right indicate full marks.

(1it) Answers should be precise and to the point.

1. Answer any one of the following questions (in 500 words) : 20

(1)  State the features of monopoly. How is price and output determined
under monopoly ?

(2)  Explain the features of monopolistic competition. How is price
and output determined under monopolistic competition ?

2. Answer any one of the following questions (in 500 words) : [20]
(1) Critically examine Marginal Productivity theory of Distribution.

(2)  Explain the features of perfect competition. How is price
determined under perfect competition ?

3. Answer the following questions in 250 words each (any two) :{20]
(1)  Explain Baumol's model of sales revenue maximization.
(2)  Explain kinked demand curve in oligopoly.
(3)  Explain Arrow’s impossibility theorem.

(4)  Explain the risk and uncertainty theory of profit.

P.T.O.



4, Write short notes on (any four) :

(1)
(2)
(3)
(4)
(5)
(6)

A® ;W oA qeRuT qor -

Price discrimination

Excess capacity

Conditions of Pareto optimality;
Williamson’s managerial model of the firm
Oligopoly;

Collective bargaining.

(WS wuia0)

FEU — (i) wd W deEan
(i) SEHEls % YU U FEifed.
(iii) HMEYFF qY YIF IFHFA FIa.
(jv) TN AWHI I ALHS EEM.

1. TEGUHR! HIEE Uar I 500 IR SW fowr .

(1)
(2)

2. WoelHl FHIVAE THT Y 500 VEE SWfow

()

fawsrren droim Saemar faga deras aitaer &4

(2) ol dfmed WM g few fd ww e 0
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3. WP WA YAW 250 e I@ feR (FUEE eM) [20]
(1) A faw o weadiee gfime we s
(2) AR alUFdle dFheR ARTI 9% T .
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Total No. of Questions—4] [Total No. of Printed Pages—3

| [3704]-202
M.A. (Part I) (Second Semester) EXAMINATION, 2010
ECONOMICS
EC-202 : Indian Public Finance
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i) Figures to the right indicate full marks.

(iiz) Answers should be précise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]
(1) Explain the meaning and components of Government Budget.

(2) Explain the Trends in Revenue of Union Government since

1991.

2.  Answer the following questions in 500 words each (any one) : [20]
(1) What is Deficit Financing ? Explain in detail the objectives

of Deficit Financing.

(2) Critically examine the recommendations of Twelfth Finance

Commission.

8. Answer the following questions in 250 words each (any two) : [20]

(1) Discuss the preparation and presentation of Union Budget.
PTO. _
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(2) Critically examine Public Debt Policy since 1991.
(3) Discuss the effects of deficit financing on Indian Economy.
(4) Explain in detail the indicators and causes of Indian Fiscal
Imbalance.
4. Write short notes on (any four) : [20]
(1) Trends in expenditure of Union since 1991.
(2) Reforms in Direct Taxes.
(3) Principles of Federal Finance.
(4) Assignment of Grants.
(5) Interdependence of Monetary and Fiscal Policy.
(6) Classification of Budget.
(& FYie)
¥ : W AW THUT T : 80

ga — () wd WA dedn

(i) IvERER® Sk YU O gFifadn.
(i) IW AR 9 RS ITWEM.
(jv) RIS Y& ST WIAULAH UBwE.

1, TOo WAE 500 I SW fow (SvAE TE) [20]

(1)
(2)
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2, Toe WA 500 TTRW I fow (FORmd ww) [20]
(1) @ s wus w1E 7 e vt sfeseR fagau
E L
2) e fag smEnm=n femafe forrms gfgw

3, WO WA YdW 250 =W IW fEw (FoRg @) [20]
(1) S FdGHEl qEaald 9 GRASOmE "= HA.
(2) 1991 AT WESF Feguge HROE foEmEe  whem #
(3) Tr=w sedfwvaen W sdseedadle it 9= &9
(4) v fafa samdem feas 3 FRo fageas o= &9

4, g=HER du fog (FUEE Ww) [20]
(1) 1991 =N HIWHRA @HEougs Yl
(2) YAH HAdle GUH.
(3) s faoyumS @
(4) STRMfaYEs  SEERH.
(5) ToAlawaE q ToAGMg RO A qEEIE.
(6) IRNUTRR i,

[3704]-202 3



Total No. of Questions—4] [Total No. of Printed Pages—3
[3704]-203
M.A. (Part I) (Second Semester) EXAMINATION, 2010
ECONOMICS
(EC-203 : Indian Agricultural Problems and Policies)
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(ii) TFigures to the right indicate full marks.

(Gii) Answers should be precise and to the point.

1.  Answer the following questions in 500 words (any one) : [20]
(1) State and explain the SEZ Policy in India.
(2) Explain in detail the Employment Guarantee Scheme of
Maharashtra.

2. - Answer the following questions in 500 words (any one) : [20]
(1) Explain export policy of India in relation to vegetables, fruits
and flowers.

(2) Explain in detail the agricultural problems in India.

3. Answer the following _questions in 250 words each (any two) : [20]
(1) Discuss the present policy of ceiling on land holding in
India.

(2) Explain the impact of mechanization on agricultural labour.

P.T.O.



(3) Explain the impact of World Trade Organisation on Indian
agriculture,

(4) Explain the need of service sector in relation to agriculture.

4, Write short notes on (any four) : [20]
(1) Recent Indian Agricultural Labour Policy
(2)  Issues of agricultural subsidies
(3)  Unemployment problem
(4)  Agricultural problems in Maharashtra
(5)  Problems of agricultural labour

(6)  Agricultural policy in Maharashtra.

(TS wUI)
@ : AT AqH THIT T : 80
AT :— (§) | wya diean
(i) SRS i yot w qlfar.
({ii) 3IW WA o HEHE HHMETa.

1. oo WE Tdel 500 TR W few (SR ) [20]
(1) vnara foe enfde &5 9rw g 3 o= =51,
(2) TERSE! USPIR FH Ao Afae e w6
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2.  Wedlo WAl 500 TR IW fow (v ) [20]
(1)  o9S9en, e MM wol A Hewide WRae Fald din s
H. '

(2) 9arde 3l faugs oaea gfawy o+

3.  We WAEl WO 250 IR SW fow (SRE @) [20]
(1) YRAWie HErs RS OO HRemE w= 9.
(2) FfFREFETE ATl 9iom o w1
(3) SMfde SHYR FHA WRA Fdeda vy wWs .
(4) =7 Geuld Ta1 &FEt TS W .

4,  dreEd du ferr (woE @w) [20]
(1) st wRdE AR fowas dRo
(2) W fawgs oFEEN Wi
(3‘) SRS Ge
(4) WERTEE 3t fasees gmen
(5) ITESE HE
(6) WeRTgHEl F R
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Total No. of Questions—4] [Total No. of Printed Pages—3
[3704]-204
M.A. (Part I) (Second Semester) EXAMINATION, 2010
ECONOMICS |
(EC-204 : Industrial Economics)
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
| (ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) What do you mean by disinvestment policy ? Explain the progress
and problems of disinvestment in India since 1991.

(ii) State and explain Weber’s theory of Industrial Location.

2. Answer any one of the following questions in 500 words : [20]

(i)  Critically evaluate the trends in foreign institutional investment

in Indian Economy since 1991.

(ii) Comment on industrial growth in Indian economy since 1991.

8. Answer the following questions in 250 words each (any two) : [20]
(i)  Explain the problems in measurement of industrial productivity.

(i) Distinguish between mergers and amalgamation.

P.T.O.



(iii) Explain the problems of imbalanced regional development of

industries.

(iv) Evaluate the role of small scale industries in Indian economy.

4. Write short notes on (any four) : [20]
(i) Effects of industrial monopoly
(ii) Advantages of balanced regional development
(iii) Tools of productivity
(fv) Arguments against MNC’s in India
(v) Broad features of Industrial Policy 1991

(vi) Problems of public sector in India.

R T
9@ : f 9 THUT T : 80
qET — () WE WA drefan saE o
(i) Sodfiede % o o it
(i) T AR q WLgS ST
Gu) TsutErE HE@ IUel WEAufAeRl UErEl.

1. TPl SR W@ A TR O500 TeEm foR (20}

(i) ﬁvﬁaﬂﬁaﬁmwwwm@aaﬁr?wmwﬂmﬁﬁa
friqaueri=t Wt 9 R W H
(ii)aﬂaﬁﬁﬁwﬁiﬂmwméaﬁwﬁimmamm
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2. WOGIHE SR TR AR W 500 IR few ‘ [20]

@ 1997 U WRAE AdeEdilec Wala TR aausms Jadrd
rehtedeh  YegHdd .

(i) e Adadudie 1991 TN Siedfi gElet 9w w9

3. wide WAy 250 =K IR fow (RS @) [20]
(i) oiEified IURHA HTAG THET W &
(i) UHARO o GAEU amdie 9] R &
(7)) ST AEqOW WefTh fawren 9ven ww &
Gv) v sedsgaeiils oy I yfyee wWEw F

4. dFE AU ferr (R Ww) [20]
(i) ol=ifir meRRR wfom
(i) GO TR faemm wE
({ii) IUKHW AR W
(iv) YRAdE SR U folude g
(W) 1991=w SfeEifer dRomTEl Jew Afirew
(vi) WRAS ‘aﬁaﬁa: GEIC RIS
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3704]1-205

M.A. (Part I) (Second Semester) EXAMINATION, 2010
ECONOMICS
(EC-205 : Rural Development)
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt «all questions.
(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questiens in 500 words [20]
(i)  What is rural development ? Explain the scope and importance

of rural development.
(1i) Evaluate the role of green r_evolution and rural electrification

in rural development.

2.  Answer any one of the following questions in 500 words [20]
(i)  Explain the nature of rural unemployment. What are its causes ?
Suggest measures to eliminate the rural unemployment.

(ii) Evaluate the progress of National Rural Employment Guarantee
Programme and Employment Assurance Programme in generating

employment in India.

P.T.O.



3. Answer the following questions in 250 words each (any two) [20]
i} Explain the nature of rural indebtedness in India.
(¢i)  Explain the remedies used by government to alleviate the rural
poverty in India.
(zzi)  Explain V.M. Dandekar’s Approach of Rural Development,

(zv)  Explain the scope of agrarian reforms.

4. Write short notes (any four) : [20]
(i) Structure of rural economy
(i) Advantages of development of rural transport in rural
development
(;z1) Small farmers Development Agency
(iv) Tramning Rural Youth for Self-Employment (TRYSEM)
tv)  Tribal Development Programme
(vi) Employment opportunities in unorganised sector.
(F& wuiaw)
9% : dH 9| THIT T : 80
AT — () |WE WA Hzan
(ii) €S FF g o eifaam.
(i) Jul 99«1 9 YRUT TEET.
(iv) HeulEEl g ot wAutE e

1. @%W@MOWWW(W@@): [20]
() T fowm =S #wE 2w fyem s e TR oy
F .
(id) e it sfor o forgden wm e g e
.

(37041205 2



2.

e WA 500 TR S fERl (HER @) [20]

(i) st SR e T HY. e ENO BE R 2 AT
FHTT FH HTOAHS 3TE AT

({1) wﬁﬂmﬁﬁ?ﬂmﬁa‘mmﬁmmﬁm’a‘m

. ey - e —

e A T 250 e S few (FORE AE) 20]

(i)  wAre WE el @Ed e A

(i) srder W et el SR A ST T
H.

Gii) T T fa. W wiEEt Al gfiewn W Fl

Gp) SdifEEEE GURUIE SE TR H

drega 21 foa (FUME WR) 20}
(i) T stedeEEEEl T

i) o faerEde om degs oraen fawEe . wes

(i) oed Yeed fawm wEn (SF.DA)

Gu) wE e e ges wfvram (TRYSEM)

(v) enfeardr faer wTEHRH

(pi) IR gEde IS
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Total No. of Questions—4] [Total No. of Printed Pages—2

[3704]-206

M.A. (PART I) (SECOND SEMESTER) EXAMINATION, 2010
ECONOMICS
(EC-208 : Computer Application in Economic Analysis)
(JUNE 2008 PATTERN)
Time : 2.30 Hours Maximum Marks : 60
N.B. — (i) Attempt All questions.
(ii}) Figures to the right indicate full marks.
(i) Answers should be precise and to the peint.
1. Attempt any one of the following : [15]
@ Explain working of on-line banking. What are the advantages
and disadvantages of on-line banking.
(ii) What is electronic transaction ? What are the different way

to authenticate and validate the transaction processing ?

2. Attempt any one of the foilowing (A or B) : [15]
(A) (i) Explain B2C model with suitable example. {8l
(ii) Explain how you can use Internet in research. [7]

| Or

(B) (i) Explain the block diagram of computer with its
application. i8]
(ii) Explain the use of MS-Excel in economic analysis. (7]

P.T.O.



3.  Attempt any three of the following : [15]

()
(it)
(iit)
(iv)
(v)

Explain the services provided by operating system.
Explain any two types of network.

Explain the steps for creating column chart.

What is the use of printer ? Explain any one type of printer.

What are the benefits of Internet to organization ?

4. Attempt any three of the following : [15]

(i)

(i7)
(iif)
(iv)

(v)

[3704]-206

List any two applications from accessories group and explain
any one in detail.

What are the applications of B2B model.

What is www ? What are the advantages of E-mail ?
Explain sorting of data in MS-Excel.

What are the advantages of electronic stock exchange ?



Total No. of Questions—6] [Total No. of Printed Pages—4

[3704]-207

M.A. (Part I) (SECOND SEMESTER) EXAMINATION, 2010
ECONOMICS
EC-207 : STATISTICAL TECHNIQUES
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i)  Figures to the right indicate full marks.
(1i1) Answers should be precise and to the point,.
(fv)  Use of non-programmable calculater is allowed.
1.  Attempt any one out of two : [20]
(1) The following table gives number of miles covered in one day

by 150 delivery vans.

Number of Miles Number of Vans
below 30 03
30—40 14
40—50 30
50—60 H
60—70 28
70—80 80
80—90 15
90 above 03

(1)  Draw ogives (cumulative frequency curves) of the given data.
(i)  From ogives, find median, lower quartile, upper quartile, the
lowest decile and the highest decile.
(zii) Estimate the percentage of vans that cover between 48 and
77 miles per day.
P.T.O.



(2)  Find the mean values of the two random variables %’ and

“ and the correlation coefficient between them, when the two

lines of regression are given by

Bx + Ty - 22 = 0
6x + 29 — 20 = 0
and the variance of y = 15. Find the standard deviation of .

Attempt any one out of the fwo :

(201

(;) In 1000 extensive sets of trials for an event of small probability,

the frequencies Oi of the number xi of successes proved to

be

xi

G LA W = O

7

Oi
305

- 365

210
80
28
09
02
01

Find the mean variance of the successes. Discuss probability

of frequencies following the Poisson distribution. Also test the

goodness of fit by the Chi-square test.

(ii) 8 coins tossed at a time, 256 times. Find the expected frequencies

of successes (getting a head) and tabulate the results obtained.

Also obtain the values of the mean and standard deviation

of the theoretical fitted distribution.

|37041-207



3.  Attempt any two out of the four : (20]

(1)

(eer)

(iv)

The sum and the product of the mean and the variance of
4 binomial distribution are 16 and 48. Find the distribution.
In a random sample of 400 persons from a large population,
120 are females. Can it be said that males and females are
in the ratio 5 : 3 in the proportion 2 Use 1% level of significance.

In a big city 325 men out of 600 men were found to be smokers.

Does this information support the conclusion that the majority

of men in this city are smokers ? (State the hypothesis clearly
and test it at 5% and 1% level of significance). Comment.
A certain stimulus administered to each of the 12 patients
I‘GSulted. in the following increase of blood pressure.

5, 2, 8 -1, 3, 0, -2, 1, 5, 0, 4 and 6. Can 1t be concluded
that the stimulus will in general be accompanied by an increase
in blood pressure ?

|Given-—For 11 degrees of freedom tgg; = 2.7]

4.  Attempt any four out of SIX [20]

(i)

(1)

(1ie)

[37041-207

Write a note on why and when the xz (Chi-square) test 1s
used ?

Distinguish between population and sample. Also discuss the
relative merits of census and sample methods of collecting data.
What is a cost of living index numbers ? What does it measure ?

Discuss briefly its uses and limitations.

3 P.T.O.



(tv)  Calculate the mean for the following frequency dis‘ribution -

Marks Number of Students

0-10 06
10-20 05
20-30 08
30-40 15
40-50 07
50-60 06
60-70 03

5. What is time series ? What are its main components ?
6. Explain the concept of probability following

(1)  Mathematical or ‘a priori’ approach.

(i1)  Relative frequency or emperical approach.

(3704]-207 4
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3704]-208

M.A. (Part I) (Second Semester) EXAMINATION, 2010
ECONOMICS
(EC-208 : Community Development and Planning)
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the points.

1.  Answer any one of the following questions in 500 words : [20]
(i) Explain in detail the Marxian theory of Social Development.

(ii) Explain fully the foundations of Social Theory.

9.  Answer any one of the following questions in 500 words : [20]
(i) Explain the importance of Social Planning in Community
Development.

(ii) Fxplain India’s population policy.

3.  Answer any two of the following questions in 250 words each : {20}
(i) Explain the concept sociology of development.
(ii) Explain the Schumpeter’s theory of underdevelopment.
(iii) Explain the relation between social investment and economic
growth.
(iv) Discuss International Population Policy.

P.T.O.



4. Write short notes on (any four) : [20]
(i) Social Development and Environment
(iiy Basic Human Needs
(ii1) Collective Behaviour theory
(iv) Social capital
(v) Guided Development

(vi) Planning and aid.

(TS W)
@ : A AW TR T : 80
oAl :— () WE Wi AEgah IR
(i) ToERESS FF YU O Iifed.
({if) SW AR q HLET EEM.
(jv) VWM G FUS FEAUCART TErEl.

1. Wole WA 500 i IWfoR (SUEE T@®) [20]
(G) s gefes faemmn fagm gfaw o w0
Gi) gfaes foagiae STYR gfaar & &

2, Wow WA 500 =M SW foRl (VAR T&H) [20]
() umfew fowmme qHids ESHR Te6d TS S
() YRAY ShgEAiauds R TR 6.
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3. wPe wEE Yo 250 T W feR (FURE &)
() Tormm ERTE-GEed T H
(i) TeerEn seafasrarEn foga o 6.
Gii) T TaauEm et enfdE gt Ao WEd TS W
(jv) SRS GepaeAiads QRO == B

4. digwma dw fom (HoREl AW)
(i) armfees fawm eufn gEiERw
(7i) WO wHAEl T
(iii) wfes @darn TG
(jv) TrATSH  ATEaw
(vy TEfm fasm
(vi) Trarm  anfi T
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3704]-301
M.A. (Part II) (Third Semester) EXAMINATION, 2010
ECONOMICS
EC-301 : Macro-Economic Analysis—I
(JUNE 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B.

. (i) Attempt All questions.
Gi) Figures to the right indicate full marks.
(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Answer any one of the following questions in 500 words : [20]

(i) What is circular flow of income ? Explain the circular flow

of income in two and three sector economy.

(ii) Explain psychological law of consumption and state its implications.

Answer any one of the following questions in 500 words : [20]

(i) What is accelerator ? Explain fully how it affects investment.

(ii) Explain the Classical and Keynesian views on demand for

money.
Answer the following questions in 250 words each (any two) : [20]
(i) What is National Income Accounting ? Explain briefly different

types of National Income Accounting.

P.T.O.



(ti) Explain the importance of Keynes’ consumption function.
(zif) Explain the concept of ‘money multiplier’.

(v) Explain liquidity trap and its implications.

4, Write short notes on (any four) : [20]

(i)  Circular flow of income in four sector economy
(i) Marginal efficiency of capital

(Zit) High powered money

(iv) Types of budget deficits

(v)  Absolute income hypothesis

(vt) LM curve.

(FE wY)
% : W9 AW - THUT T : 80
AT — () W WA HiEan
(i) S9EHRElG e YUl U <ifem.
(i) IW AAHT 9 HEET NGE).
(fv) AEYIH A9 AHdl Bl
() TERUEE B el wyulNe uemEl.

1. @Eeldis! HIEAR TR IR SR 500 Y= forer [20]

(i) A GReR WaGR WU w2 fgafyg snfn faaatyy sdeaeda
IO GFHHR Y98 W 6.

(j1) = UM geHEr AEEIrGlE T W wT @ oraad |9
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2. Weie® HIvEE Wal Y IW 500 =@ fowr [20]

(i) YA WO ®@ 7 O aaufeleR SE gfimd wE d SR e
F.

(i) Uemrem wrfew wEE onftn e §RiRM TR A

3. @ele gyt S YRS 250 v=EE fem (Sd @m) [20]
() THE IO et BN ®E 2 T 304 e fafay gen
e gd T HA.

({i) SN SN hemie Heed W H
(Gi7) ‘U TR’ Hehedwd 1 TR HAL
(Gv) UEE@ gu@ A @ d=Edd W &4

4, demE foo faw (FUEE Aw) [20]
(i) Al svEEaEdd SO THRRR JEE
(i) wieTerHt faur s
(iif) %9 TRl U@
(iv) FETSIASRIA gerd THR
() Ty 3= Tleas
(vi) UA. TH dG%h.
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Total No. of Questions—4]j [Total No. of Printed Pages—3
[3704]-302
M.A. (Part I (Third Semester) EXAMINATION, 2010
ECONOMICS

(EC-302 : Economics of Growth)
(JUNE 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(i) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(i)  “The process of economic growth is determined by Capital
Accumulation and Technological Progress.” Discuss.

(ii)y Explain the Karl Marx’s interpretation of surplus value and capital

accumulation in capitalist economy.

2.  Answer any one of the following questions in 500 words [20]
(i)  Critically evaluate the Harrod and Domar growth model regarding
requirement of steady growth.

(i) Critically evaluate the Solow’s model of long-run growth.

3. Answer the following questions in 250 words each (any fwo) : [20]
(i) What is economic growth ? Explain the characteristics of economic

growth.
P.T.O.



(ii) Evaluate the contribution of Adam Smith in the development of
capitalist economy.
(iii) Explain the structural analysis in development process.

(iv) Explain Levhari’s Endogenous Growth Model.

4.  Write short notes in 100 words each (any four) : (20}
(i) Impact of market imperfection on economic growth
(ii) Surplus value and profit
(iiz) Capital controversy
(iv) Meade’s growth model
(v) Embodied technical progress

(vi) Importance of money in economic growth.

(T i)
g5 : q A TEHUT T : 80
el o— () Wd WA e
(i) SoEwE® o U O S3faar.
(i) FERYE d¥ FAF HEHAT Hel
(v) Tewiardl 4@ TSl WEAutrR TEE.

1. BEe G IR WA 500 7M fEw (FOEE TH) [20]
(i) *'aﬁwq@ﬁmwammmm”ﬂ
L.

(if) W@aé&a@ﬁﬁaﬁﬁmg&aaﬁa@mwmm
a9 faar T &4
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5, e Al SW WO 500 f1=@ Rl (FUEN TH) (20}
() Wq@?ﬁmfmmwmammq@wuﬁmﬁm

qeIHTd &,
(i) A = fedwmer get wfaarrs fedre JeaET w3

3 o S S EEr 250 =@ few (FUEE a@F) [20]
() onfiE ggl W wm 2 ofdE geie afmed T w
Gy siEaed sefereen fawmde fen e ae deEE e
F.
(iii) Toera wiwddies s faown e F73.
(iv) o=l I TERE ge wfdEE T F

4 woe S wEE 100 I R (FUEE W) [20]
(i) AR squiien efdE goiaie afom '
(i) eAfafem gea enfor T
(i) wigde faqunmg
(iv) T2 I g 9
(v) TEEgE WA
(vi) o FEde S TEE.
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3704]-303
M.A. (Part II) (Third Semester) EXAMINATION, 2010
ECONOMICS
EC : 303(A) Research Methodology
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. — (i) Attempt All questions.
(ii) Figures to the right indicate full marks.

(izz) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i} What do you mean by research 7 Explain importance and types

of social science research in modern times.

(i) Explain in detail the different sources of secondary data collection.

2. Answer any one of the following questions in 500 words : [20]

({) Explain in detail various stages in Research design.

(i) What is case study method ? Explain the advantages and limitations

of case study method.

3. Answer the following questions in 250 words each (any tfwo) : [20]

(i) THustrate the different types of sampling.

P.T.O.



(1i) Explain the types of classification.
(121} Discuss the importance of hypothesis in social science research.

(fv) State the various methods of data analysis.

4, Write short notes in 100 words each (any four) : [20]

(1)  Use of computer in data processing
(i) Measures of central tendencies

(zit) Characteristics of a Good Questionnaire
(iv) Size of sample

(v) Types of correlation

(vi} Importance of PowerPoint Presentation.

(T W)
A® : dF a9 THUT TqOT @ 80
Er :— () WE WA @RISR
(i) Ieidele b YU O SifgdE.
({ii) IW TR I YU ATEM.
(iv) FIUEIS Hos TUST WEalAhT ETEl.
1. @OPe WAE 500 KK SR fow (R wew) [20]

(i) EEYAE AYUIE ®E AGNY B 2 MY Wi SEeie e
((i) =Y qF gl e fafay urt afomws @ =
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2. WES wrAEl 500 I IR fowl (HIUEE W) [20]
() TR eTEeTdle fafay v wfosm wsEtERm &

(i) TatrsenarE ugd v e ? fatrsaeam usde R | "
AL h.

3. Wde WA wad 250 =W IR feRl (Fwwd ) (20]
@) T faden fafew ggd= o9 ®a
(ff) Lo YR T AL
((ii) GfSRITE TeME e e W= A
(iv) we farowumd=n fafaw ogd @mm

4, e AW YIH 100 T=E foR (FUE AR) [20]
(i) qAYTHAEES TR I
(i) s WFEE HOh
(iii)  Sehs3 wAmEeHr AT
(ijv) AT HHR
(v) e YFR
(vi) THAEEH TIHAER AR TE.
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Total No. of Questions—4] [Total No. of Printed Pages—3
| [3704]-304
M.A. (Part II) (Third Semester) EXAMINATION, 2010
ECONOMICS
EC : 303 (B) Econometrics
(JUNE 2008 IPATTERN)
Time : Three Hours | Maximum Marks : 80
NB. — () Atterript All questions.
(i) Figures to the right indicate full marks.
(i) Answers should be precise and to the point.

(fv) Use of calculator is allowed.

1. Answer any one of the following questions : [20]

(i) Estimate the sale function Y = a + B.X for the following

data :
Price (X) Sﬁles )
5 12
6 17
7 19
8 21
9 30
11 29

P.T.O.



(if)

(@) Interpret the values of o and p.

(b) Test the significance of P at 5% level of significance.

Given that #4095 = .776.
(¢) Also construct 95% corifidence interval for .
Determine the reduced form equations for the following model :
Y =a1 + b5X + 12
Y = ag + bgX + cgW
where X and Y are endogenous and W and Z are exogenous

variables.

2. Answer any one of the: following questions : [20]

(i)

(17)

[3704]-304

Discuss the identification of the first two structural equations

in the followingz model :
C, = ap + oY, + 09 Yy q + Uy
I, = By + B1Yy + Ba Yeq + vy
Y, =C, + I, + G

where G, is. the only exogenous variable.

What cautio n should we take while incorporating dummy variables
in the regression model ? Also explain how they are useful

for descassonalising time series.



8. Answer any two of the following questions : [20]

()

(if)
(iit)
(iv)

State and explain linear probability model with an illustration.

Also state its limitations.
Write a detailed note on ‘Autocorrelation’.
Discuss different models in time series.

Explain what is identification of an equation. Explain rank and
order conditions of identification of an equation in simultaneous

equations " model.

4, Answer any four of the following questions : (20]

(i)

(i)

(iii)

(iv)

(v)

(vi)

[3704]-304

What is Vector Autoregression ? State problems in Vector

Autoregression.

State clearly the assumptions of classical linear regression model.
Explain confidence interval approach to hypothesis testing.
Discuss differnt methods of detecting multicollinearity.

What is a stationary stochastic process and a non-stationary

stochastic process ?

In a data of tri-monthly sales of dishwashers how many dummy
variables are required to be incorporated in the model ? How

would you interpret their coefficients ?



Total No. of Questions--4] {Total No. of Printed Pages—3
[3704]-305
M.A. (Part II) (Third Semester) EXAMINATION, 2010
ECONOMICS '
(Optional Paper)
(EC : 304 Banking and Financial Institutions)
(JUNE 2008 COURSE)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : ([20]
(1) Explain the nature and role of financial system in India.
(2) Explain the structure and performance of commercial banks

in India.

2. Answer any one of the following questions in 500 words : [20]

(1)  Explain the functions and working of Industrial Development
Bank of India (IDBI).

(2)  Evaluate critically the performance of International Bank for

Reconstruction and Development (IBRD).
P.T.O.



3.  Answer the following questions in 250 words each (any twao) : [20]

(1)
(2)
(3)

(4)

Explain the indicators of financial development.
Explain the role of State Bank of India.

Explain the characteristics of Non-Banking Financial Institutions

in India.

Explain the functions of EXIM Bank.

4. Write short notes on (any four) : {20]

(1)
(2)
(3)
4)
(5)
(6)

Types of Mutual Funds

The structure of Co-operative Banks in India.
Life Insurance Company.

Functions of Asian Development Bank (ADBs)
Objectives of the Monetary Policy of RBIL

Euro-currency markets.

(AOS w0

d% : T qOE THUT M7 : 80
gEAr :— (i) wWd ¥yT dedn

(ii) SiwElo h YU U qEiiEdr.

(iii) ST A9H] 9 HeUg M.
(iv) YeuTEd Hes FSN el wgwEl.

1. IS wH WA 500 Tk W few [20]

(1)
(2)
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2.

Fod Tw WA 500 i@ IW Rl [20]
(1)Waﬂﬁﬁmmﬁaﬁﬁanm)wﬁammm.
(2) WWWWW(IBRD)W@WW

.

FoerE A WA WoiRl 250 IR I fewl 201
(1) T fowmm fde e SO

(2) wRdE e R (SBL) gEE T BT
(B)WWWW(NBFI)WWW.

(4) smaa-fafa o=l (EXIM Bank) F4 T H

dresE om fom (FOEN WR) [20)
(1) TR e 9w |
(2) YRade HehRl el T

(3) smgfdm Ul

4) ot faer SR FH

5) i Rew deen et dword I

6) JU =TT &I
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3704]-306

M.A. (Part II) (IIT Sem.) EXAMINATION, 2010
ECONOMICS
(EC-305 : Welfare Economics)
(JUNE 2008 PATTERN)

Time : Three Hoﬁrs Maximum Marks : 80

N.B. :— (i) Attempt All questions.
(i) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.
1. Answer any one of the following questions in 500 words : [20]
(1) State Marshallian concept of consumer surplus and explain
the measurement and criticism of Marshallian Consumer
Surplus.
{2)  Explain Benthamine approach to aggregate welfare and optimum

resource allocation.

2. Answer any one of the following questions in 500 words : [20]
(1)  What is Utility Possibility Curve ? Explain the Samuelson’s
Utility Possibility Curve.

(2)  Explain Kaldor and Hicks’ contribution in Welfare Economics,

3. Answer the following questions in 250 words each (any fwo) : [20]
(1) Distinguish between private and social costs.
(2)  Explain the problems of Public goods.
(3) Explain the Dynamic welfare analysis.

(4) Explain the cost-benefit  analysis.

P.T.O.



4. Write short notes in 100 words each (any four) : 120]
(1)  Principle of compensation
(2)  Utility function of individuals
(3) Scitorsky double criterion
(4) Bergson’s social welfare function
(5) External economies

(6) Optimum exchange conditions.

(A0S wuiar)
ges @ diA AW | THT T : 80
gaa — () WA g Hed
(i) IodiEEe sw qul T ewifed.
Gi) S A 9 g .
(v) HeworEl @ gust ge I e

1.  wER TE WA 500 I=w IW R | 20]

(1) el Sadeere SamfHeEETT TETUE GO A ARTesd SUHEE
TaefuEny WO o fewws gRAm TR

2y FrefgTE gTg FHodm S WET wyfe fadroren g TR

0.  woETE wvEE ww WA 500 TR I fow {20}
1) START TEEG 9% WU e 7 HRwes ST TR
ez FA
(9)  HEATMHIY AL T FHeell d forsm @A AT TEITE
.

]
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3. wem WA uEE 250 TEK IW fow (FUEE 9D 20
(1) = 5 gesfs EEide w9
(2) GEET® aagen 9HE TR Sl
(3) TERTe weammrs feeww famm w
(4) wd @y fagown W w9

4.  TIEET 100 IT=E Oedd W fem (FvERT |w) [20]
(1)  WOEd ad
(9)  AFaE TN God
(3) ThEEREEF ged ey

(4) A GHITTE  hodol HEA
(5) W 9l
() Twamm fafmaa @13
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3704]-307

M.A. (Part II) (Third Sem.) EXAMINATION, 2010
ECONOMICS
(EC-306 : Economics of Finance)
(JUNE 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.
(i£) Figures to the right indicate full marks.

(zif) Answers should be precise and to the point.
1. Answer the following questions in 500 words each (any one) : [20]
(1) Critically evaluate the working and functions of SEBI.
(2) Explain in detail the' mechanics of commodity market

future.

2. Answer the following questions in 500 words each (any one) : [20]
(1) Explain fully the types and regulations of securities.
(2) Explain the concept of Derivative and its types.

‘8. Answer the following questions in detail with 250 words each
(any two) : {20]
1) 'Explain the types of cash flows.
(2) Explain the term of Net Present Value and its impli-
cations.
' (3) Explain the various stock indices.
(4) Explain the forms of Efficient Market Hypothesis.

P.T.O.



4. Write short notes on (any four) : {20]
(1) Hedgers
(2) Corporate securities
(3) Limitations of Financial rations
(4) Problems in Stock Market
(5) Option market and its types
(6) Arbitrage.
(W& TR
e : dF qH WeRUT TOT : 80

g — (i) | WA HEE

1.

(i) SdEee % YUl U SRl
Gii) SR Y 9 PRI e
(v) WeWEd e TSt WA wEE

@ﬁamﬁaﬁmmowm(aﬁm@): [20]
(1) ‘d&iten wa fafEcs Joaaes &3

(2) aXENR (Commodity Market Future) = Fon wfaw W F

TP TR IR URE 500 =K few (RVEE TEH) [20]
(1) wieER yer enfr frame wfew wWe ST
(2) oFEE ke W wEd fod FER wWe R

e A S TEE 250 =E fow (FEE ) [20]
(1) @ YR FER TR & -
(2)ﬁaaaﬁqﬂtmﬁmwwﬁmmémm.
(3) fafgy fer s wW= FT

(4) wEgH SR e PR W R
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4, dEFw™ dw fow (FvEd 49r)

(1)
(2)
(3)
(4)
(5)
(6)
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EEICET]

Fot wfasgdt

fafesr w=mm=n (Financial rations) W4
B G S I G (G EE |

fasey deR f1 &= KR

HeATAHUT.

[20]



Total No. of Questions—4] [Total No. of Printed Pages—3
[3704]-308

M.A. (Part II) (III Sem.) EXAMINATION, 2010
ECONOMICS
(EC-307 : Economics of Environment)
(JUNE 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.
(iii) Answers should be precise and to the point.

(jv) Draw a neat diagram wherever necessary.
1. Answer the following questions in 500 words each (any one) :
[20]
(1) What is environment ? Explain fully the types of environ-
| ment.
(2) What is environment externalities ? How do environmental

externalities affect on environment ?

2. Answer the following questions in 500 words each (any one) :
[201
(1) What is sustainable development ? Explain the role of exhaustible
and renewable resources in sustainable development.
(2) Take a detailed account of mechanism for environment regulation

in India.
3. Answer the following questions in 250 words each (any fwo) :

[20]

(1) Discuss the need for Environment Education.

P.T.O.



(2) Explain the effects of macro policy op environment.
(3) Discuss the informal regulation pollution control.
(4) Explain the offects of climatic changes or global environ-
ment.
A4, Write short notes in 100 words each f{(any four) [20]
(1) EBffects of human beings on environment
2y Environment values
(3) Role of environmental institutions in the pretection of
environment |
(4) Grass-root movements for Environmental Education
(5) Indian Policy for controlling water pollution
(6) Tmpact of physical capital on air pollution.
(AT Ui
e : A A THoT 70T 80

g — () W WA Grean.

(ii) S e A B B C B E SR

Gil) S Wl 9 HRES aEia.
(vi) FTEETE qY GEE FEHA e

@) detad e d s ot

. ade W SR 500 =W fe (FTEE TH) (20]

(1)
(2}
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2. B A ST 500 =W foR (HIVERl TE) 20
(1) zTRe faETy s % ?Wamwm'ﬂmmﬁa’

gfenr @z -
(2) wraTdle aatarey fradAre AwuE giawl el AT

3 wde g s o 250 =W fewl (IR ) [20]
(1)  wElEw e sreEmaEmae =E w
(9) mHU HWomE  wHieRvEde 9o 'R Sl
(3)uagwﬁviavmaﬁqaﬁmﬁamaaim.
(4)WWWWWWWW.

4 deFmd 100 TE@ a9 few (FORE WW) [20]
(1) TN wEErEde AR e 6l
(2) wFERw gl

(3) el gl gafeRr WS SffHeR
(4) vElaia FiaonEel R e
(5) Wo TS TTEAERE AR R

(6) TIEY Weder T WU .
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[3704]-401

M.A. (Part I (Fourth Semester) EXAMINATION, 2010
ECONOMICS
EC-401 : Macro-economic Analysis [
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(iiy Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 500 words each (any one) :[20]

(i)  Explain relative effectiveness of monetary policy and fiscal policy
with the help of IS-LM curve.

(ii) Critically examine the Keynesian theory of Interest.

2. Answer the following questions in 500 words each (any one) :[20]
(i)  Critically examine the Friedman’s theory of the demand for money.

(ii) Discuss the effectiveness of monetary and fiscal policy to control
inflation.

3. Answer the following questions in detail with 250 words each (any
two) _ [20]

(i)  Explain the extension of IS-LM model with government sector.
(ii) Discuss the natural rate of unemployment hypothesis.
(iii) Explain the Tobin’s model of demand for money.

(jv) Explain the Patinkin’s real balance effect.

P.T.O.



4.  Write short notes on (any four) : [20]
()  Short-run Phillips curve
(iz)  Neo-classical theory of interest
(i2i)  Schumpeter’s theory of trade cycle
{fv) Keynesian thoughts
(v)  Monetarist approach to inflation

(vi)  Goodwin’s model of trade cycle

(TS wUi)
@ : dF aw THIT qOT : 80
YT — () wd WA Hiean
(i) IEAFEE HE g o evifaaa.
({ii) TERIEH AfSHT A  AFAT FEl.
(fv) TEMEE & ST TEAIASET e,

1. BEe el TEE 500 wiEW IW few (FOED U)o [20]
(i) IS-LM ashr=A1 HRI-AM IoHdudsd o TSty S0 Qi S
pe =g

(i) =N =l fagae foeras ofiam &3

2. @Rl TIE YA 500 VR W o (@UE ) 20]
(1) TwrerTen Yemem uroi fagam fewrms uftso .
(i) Foare faauren IeAfaude 9 TSN SRum=a i FRRE = T4
.
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3. WO YA YRS 250 V=E SW fow (RO @F) [20]
(i) IS-LM 9fqAmr=n vmafsa ol faman o .
(i) Shriem e @ TEdEE =9 @,
(ii) elfaT= Gur=n Areie gffmm o .
(tv) dfedAfwrd ai=n anaa Fees ofom == w5

4. dgrEem du fom (FEE |9w) [20]
(1)  Teusfed fefow o%
(i) =AM Ag-wAEE faga
(iii) e =amEw fage
(lv) &9 faur
(v) HgETEE AeAae giesm

(v0) TEfoTa =AREE  Fiaam.
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3704]-402
M._A. (Part II) (Fourth Semester) EXAMINATION, 2010
ECONOMICS
(EC-402 : Economics of Development

(JUNE 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

— (i) Attempt All questions.
(zi) Figures to the right indicate full marks.
(tii) Answer should be precise and to the point.

(iv) Draw a neat diagram wherever necessary.

Answer any one of the following questions in 500 words : [20]
(i)  What is Human Resource Development ? Assess the role of
Government in Human Resource Development.

(i) Critically explain the theory of Critical Minimum Effort.

Answer any one of the following questions in 500 words : [20]

(i) What are the effects of Globalisation on the industrialisation
of Developing Countries ?

(iz)  Critically examine the role of International Trade in Economic

Development.

P.T.O.



3. Answer the following questions in 250 words each (any two) :[20]
(i)  Characteristics of underdevelopment.
(if) Limitations of Ranis and Fei Model.
(tii) Compare the effectiveness of monetary and fiscal policies in
| development countries.

(iv) Discuss the role of ‘Export led growth’ in economic development.

4. Write short notes in 100 words each (any four) : [20]
() Significance of Education in Qualify of Life
(fi) Unbalanced growth
(iii) Large scale production
(iv) Terms of trade between agriculture and industry
(v) Dynamic gains from trade

(vi) Burden of borrowing.

(WE i)
A% : v A QRUT qOT
A — () wd WA HE
(ii) SoEReSe 3w Yo (U aifgam.
(jii) SW IH! 9 GHT FIWE.
(jv) ITETIR AY GaF AFA FIa.
(v) TWER Hw U Wt ErE.
1. TPe WAN W 500 I fow (SvEE ) [20]
() wrat dEue foem BUR @ ? AEdl wAE faemre SR

Ve B T
Gi) Troigs feam oo fagee demms ufiswm &

80

*e
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2, wEw WIR SW 500 7= fewm (Il ww) [20]
") e faewnte e safimoneR sve o e
g ?

3. woT WA TN TR 260 7= fem (FRd €W) [20]
() fewfaauomst AR
(i) T anfor v whmErsn wai
(i) fawawie mde wea 9 fadim oromsn ofomsREsr o
Ea

(v) ofdw fowmm ‘Fridg I8’ vt =9 &a

4., vEF 100 =@ G dw few (Foew Wwm) [20]
(@) SheErem TuEne fraeme W
(i) oOHEe @
((ii) TReWM THTE® g
Gv) TR T s wmdie SR
(v) =R TfEle @Y
(vi) ®ET ¥R
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[3704]-403
M.A. (Part II) (Fourth Semester) EXAMINATION, 2010
ECONOMICS
EC-403 : International Economics
(JUNE 2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(fv) Draw neat diagrams wherever necessary.

1. Answer the following questions in 500 words (any one) : {20]

(1) Explain critically the Heckscher-Ohlin theory of International
Trade.

(2) What is disequilibrium in the Balance of Payments ? Describe

the measures adopted to correct disequilibrium in Balance of

Payments.

2. Answer the following questions in 500 words (any one) : [20]
(1) Explain critically the Purchasing Power Parity theory of Exchange

Rate.
(2) Describe the changes in the direction of India’s foreign trade

since 1991. What do these changes indicate ?
P.T.O.



3. Answer the following questions in 250 words each (any two) : [20}
(1) Explain the impact of foreign investment on Indian Economy.
(2) What are the limitations of Comparative Cost Advantage theory
of International Trade ?
(3) Explain the factors determining terms of trade.
(4) What are the merits and demerits of Flexible Exchange
Rate ?

4. Write short notes on (any four) : | [20]
(1) Non-tariff barriers
(2) Balance of Trade
(3) Organization of International Monetary Fund
(4) Income Terms of Trade
(5) Export Promotion
6) Structure of World Trade Organization.

(s waiaD)
A : AT qW TEuT U : 80
m:—(i)ﬁuﬁ’eﬂ‘sﬂ.
(ii) B B - I L IR S
(iii) mwmwm.
Gv) OTEE AX GEE MFA Il
(v) Wmtﬁ@?ﬁmm

1. @@Bmsoomaﬂim(mé@): 120
(1) W—WWWWWWW
.
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(2) WWWW?WW@SW
Ex I LT G

) wde WA S00 TEE I few (FUEE ) [20]
(1) et eren SA-TEl W g e w@Eww .
(2) e WRRT AR 1991 Hawen fEnerd wee s w9
¥ Weo & Eifead ?

3. wmwmzsomm(mm): [20]

4, drewm dw fom (SRR AR [20]
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Total No. of Questions—4] [Total No. of Printed Pages—4

[3704]-404

M.A. (Part II) (Fourth Semester) EXAMINATION, 2010
ECONOMICS
(EC-405 : History of Modern Economic Analysis)
(JUNE 2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.

(¢2)  Figures to the right indicate full marks.

(izi)  Answers should be precise and to the points.

(tv) Draw neat diagrams wherever necessary.

1.  Answer any one of the following questions in 500 words : [20]
(z)  Critically explain the Portfolio Theory of James Tobin.
(zi)  What is Revealed Pféference ? Examine the Revealed Preference

theory of Samuelson.

2. Answer any one of the following questions in 500 words : [20]
(z)  Critically explain Modigliani’s Model of Limit Pricing.
(iz) Explain Amartya Sen’s thoughts on welfare economics. How

they are different from Pareto’s welfare economics ?

P.T.O.



3. Answer the following questions in 250 words each (any two} : [20]
(1)  Explain Milton Friedman’s Modern Quantity Theory of Money.
(ti)  ‘Myrdal is regarded as the Adam Smith of Poverty.’
Comment.
(zi1) Explain Meade’s approach to general equilibrium of production
and consumption.
(iv) Explain the assumptions of Ohlin’s theory of International

Trade.

4.  Write short notes in 100 words each (any four) : [20]
(1}  Arrow’s Impossibility Theorem
(11} Hick’s IS-LM Model
(i) Criticism on Ohlin’s theory of International trade
(tv) Friedman’s Monetarism
(v)  George Stigler’s contribution in Industrial Economics

(vi) Export Obsolescence.

(& wiew)
9@ : T A THUT T : 80
e i— () wE WA "
(ii) SoeRere % Yo W SFifedd.
({ii) =W Joh! 9 Yegg ITEE(d.
(i) oTEFa® A9 Fas AFA FEl.
(v) TeuiEEl s S weAatrE el
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1.

3.

B wEAE 500 TR SW fERl (WIUEED Tw) [20]
(1) g Sfe e mn Tew fagwe fodrnd et =
({{) THIAd UGE TEUH w1 ? TSI Yheld gudl fagrara wiew

.

e A 500 IR S e (RIUAE Wes) | 201

(i) wfeear aen wEifgg feaa fR=d wfoamre fewrms e
.

(ii) 9 O N e SR faar TR . TS A=A HedIiE R

sefEmETe 7 w9 fym eea ?

weie WA qwl 250 I S fem (Ve @) 20]
(i) Toeeq fwem grn enyfe aeafawas fagra o &4

(i) ‘‘fogefe =@ Tfga= ofzg fmy 3@ TEydE.’’ w9s9 &4

(iif) IR 377 IR AreTed=al TAHHRT FoAoEEad HE A giedn
oI L

(jv) ohefed =@rem Hiquusg =N fagrael TRd W &L
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4. v TR T (dewm) AW fem (FO0E WR) 120]
@) W F™ e YHd
(ii) Term a= IS-LM wfdam
(iii) oiefeq =i stawrg =R fagredis fed
(iv) firem a1 3O
(v) < ferer 7w Sieifie sdfmemde arRA

(vi) FTrafa g
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